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o PUA VA WX O b 39 UY-UF & TfEd g 8 qAT UY 145

Please make sure that the printed pages in this question paper are 8 in number and it
contains 14 questions.

o THTA T TR B P SR A T Ple TR T U B O IWR-GRABT &
-8 IR ford |

The Code No. and Set on the right side of the question paper should be written by the
candidate on the front page of the answer-book.

o HUAI UY H I [l L& I3 Y UG, WY BT HHIS 3G ford|
Before beginning to answer a question, its Serial Number must be written.
o IW-YHI & &9 & @Mall gd1/Id 7 B!
Don't leave blank page/ pages in your answer-book.

o SR-YKHT & faRad ®is 3 e Ta1 et 3 maadarguR & fod 8k
forar I 9 BIc|

Except answer book, no extra sheet will be given. Write to the point and do not strike the
written answer.

o Tamdl AT AW o UH-UT W @ RrE| A o b MfiRed wHum R o=y po Wt
T fod ok aofeus vl & S R fFf R &1 fvm= 9 amd|

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective type
questions.

o FUN UM & IW 37 J gd g8 YA R o 5 vy guf 9 et §, udlem & S 39
T § dIg Wt grar Wier A8 fear S

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after examination.
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NOTE: The question paper is divided in to four sections (A, B, C, and D)

i) SECTION A consists of 1 Question (10 Objective Type Questions of 1 mark each).

ii) SECTION B consists of 4 Very Short Answer type questions of 1 mark each.
iii) SECTION C consists of 5 Short Answer type questions of 2 marks each.
iv) SECTION D consists of 4 Essay type questions of 4 marks each with Internal Choice.

Ale: 49T 99 IR st (A, B, C,D) # afer amm |
i) YA A & 9% FC&IT 1 & 1 3 & 10 TEIESS TR & 9 g
i) AR B H 1 3P F 4 7T oY 3N THR F 9T gl
i)  @RIT C H 2 3hl & 5 oY FTT TR & 9T ¢
iv) 99T D H AARS [Ghed & A1 4 37h & 4 69U 96 & 99T gl

SECTION-A

1. All questions are compulsory and carry 1 mark each. 10
T et AT § 3R 9AF 1 3F F gl

What does SMTP stand for?

SMTP &l 9 &9 7 §7?

a) Secure Mail Transmission Protocol / HegY Hel THAR Hcihiel

b) Simple Mail Transfer Protocol / &9l #el THHT Freihiel

c) Server Mail Text Protocol / X A CFEC Welaiel

d) System Maintenance and Transmission Protocol / f@¥eH #Few® Us rgfaee

qrethlel

Which SQL function is used to retrieve the maximum value from a given column?
fRelT T 31T column & 31fSdd ATA UItd A & folv fohe SQL HaRIeA T 39T
forar arar 87

a) AVG( )

b) MIN( )

c) MAX(")

d) COUNT( )

Which HTML tag is used to create a hyperlink in a webpage?

el dadar 7 gewfels Ssa & fav v HTML 91 &1 3uier fvar Sirar 872

a) <u>

b) <a>

C) <|>
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iv.

Vi.

Vii.

viii.

d) <p>

If the elements “m”, “r’, “p”, and “q” are placed in a stack and are removed one at
a time, in what order will they be removed?

Ife element "m", "r", "p", 3 "q" FI UF stack F @I AT & 3R UH IR F ger 7w
STl &, dl 3o¢ fohd A H gSIAT STTIM?

a)q, rp m

b) g, p, r, m

c)m, prq

dmrp q

The tag is used to insert an image in a web page.

&1 &1 3UANT dd I5& H U image STelal & forw foham Sirar g

In C++, the symbol is used before the class name to represent a
destructor.

C++ ¥, BFcaey I e & AT Farq A1 & Ugo clier T 3TANET
foram e &

A constructor is a function that initializes an object when it is created. True/ False
Teh Foicdel Ush harled § o [l 3ifeoide 3 Il W 30 YR T gl FeI/378T

The <h1> tag in HTML is used to define the highest-level heading, typically
representing the main heading of a document.True/ False

<h1> HTML # &7 & 39317 3TadA-Ed{T fM¥e i aReia s & fav fasar srar
g, St 3MHAR W eEardst & H&g M &1 gfafAftica adr g1 de/3mc

Direction (for ix and x):

In the questions given below, there are two statements marked as Assertion (A)
and Reason (R). Choose the correct option out of the choices given below in
each question:

fader: & Gu a1v geat #, HUT (A) 3R FROT (R) & ¥ # RTAT aF Ha7 g 93F
g H A fer v Fhedl H @ T [Fhey &1 I fifaw:

Assertion: The INSERT command in SQL is used to add new data to a database.
Reasoning: INSERT is primarily used for updating existing records in a database.

I.  Both (A) and (R) are correct and (R) is correct explanation of (A).
3
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[I.  Both (A) and (R) are correct and (R) is not the correct explanation of (A).

lll.  (A) is true but (R) is false.
IV. (A) is false but (R) is true.

FU (A): SQL #F INSERT command T Sedd & 31 3T Sissl & foIw 3uer
fhar arar B

FROT (R): INSERT HE&T &9 & Sered # #Hiser ReplS &l 34se olel & v 39
fhar arar B

.

Il

.

V.

(A)3R (R) @&t &8 € 3R (R), (A) & T sare g

(A) 3R (R) et @Er 8 3R (R), (A) & @& carean 78 &

(A) T ¢ JAfFa (R) 38T &1

(A) 38T ¢ ofdhed (R) T &l

Assertion (A): Firewalls are essential components in network security.

Reason: They act as a barrier between a trusted internal network and untrusted

external networks, controlling incoming and outgoing network traffic.

I. Both (A) and (R) are correct and (R) is correct explanation of (A).

[.  Both (A) and (R) are correct and (R) is not the correct explanation of (A).
lll.  (A) is true but (R) is false.
IV. (A) is false but (R) is true

FYA (A): BRIl Acdes FI&T H aeTqeh veeh gl
FRUT (R): T T [929T-1T 3dRS Acas 3R 3fGaay Siedl Acas & &g Tah arer
& T H FF A &, S 3 ared 3T S arel deas Sfhe & FaRa &=a g

I (A)AR (R) @it F&r g 3R (R), (A) Fr T8 <arean gl

. (A) 3R (R) ar=r F&r g 3R (R), (A) Fr F&r carear a8 gl

H. (A) I § ofeet (R) 38T gl

IV. (A) 39T g dfra (R) IcT &l

SECTION-B
(3rTeTaT-q)
All questions are compulsory. Marks are indicated against each question.

Tl geeT IRy & IAF 9T & 37k 3% A QU T g
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2. Write syntax of “for” loop in C++. (1 mark)
C++ # "®R" ou &1 f&dea fad|
3. Write any one use of the scope resolution operator in C++. (1 mark)
C++ H FhIT TSTo I 1 Teh 39T FdV|
4. Define First Normal Form (1NF). (1 mark)
HES AT BIF (INF) Fr IRIT |
5. Define Record. (1 mark)
Repis &1 aRea &

SECTION-C
(3reTsrTaT-ih)

Marks are indicated against each question.

Jcddh 9 & 37 3T A GU 1T gl

6. Write the HTML code that will produce the given output on a webpage.
g8 HTML #Is ford it iRl dedsT R QU 91T 3m3eqe &l 9&dd S|

Example of formatting Tags.
This 1s bold.

This 1s italic.

This 1s underline.

OR / a1

Explain the process of saving an HTML code. (2 marks)

HTML I8 &I 89 el I 9Tshar forg |

7. What is Parametrized constructor in C++? (2 marks)
T ++ H WSS FEcaed FIT g2
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8. Explain the syntax of the SUM () function in SQL with an example. (2 marks)
Teh 3GIe0T & AT SQL & SUM () wariT & lcad dr camear #|

9. What are the advantages of using SQL? (2 marks)
SQL T 39ANT A & FIT BIAG 87

10. Rahul, a student at XYZ School, was unwell and had to stay home. To ensure
he doesn't miss out on lessons, Mrs. Patel, his teacher, conducted a virtual
class using video conferencing. (2 marks)

XYZ TRl T B I IETEY AT 3R 38 B W EeAT 95l A1| Tg ARG e
& foT for a8 9o @ g 7 A, 3R RAfETEr AAEh wed F AT PSS Hr

3T Hhich Teh JTHTHT el AT Sl

I. What is the primary benefit of using video conferencing in this scenario?
a) Reduced Travel Time to School
b) Enhanced Collaboration with Classmates
c) Real-time Interaction with the Teacher
d) Improved School Uniform Design
s gReT H AfSAT HiShiRIT T YA Flal T WARS 1T a1 §2
a) Thl S & TIT IET HT AT HH HL
b) TEuIfear & AT TGN deTelm
c) fA&TH & Ay IrEdfdsh AT & Sddid
)

d) SER Thel adl St

Il. Which of the following is an example of a video conferencing app commonly
used for remote learning?

a) Zomato

b) Paytm

c) Zoom or Google Meet

d) None of the above

@ & & @i & NTSAT HIhAT VT T Tk 30T § Sl HHAAN W g8y
Rrem & forw 3uier R Sar &2

a) Sieer

b) ¥dTA

C) SIH AT IETT AT

d) 39ed # @ HIg &
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SECTION-D (31?_I°'311?T-§’I')

11. What is Linear Queue in data structure? Write down the algorithm for deleting
an element from a linear queue with an appropriate example. (4 marks)
3T TeF H NI g 37 g7 38T & AU Teh ool g H Ul gead &
foT TeaReH fod|
OR / =T
Explain Selection Sort in detail with an appropriate example.
Teh 33U 3ETEX0T & HY selection HIE & AEIR & FHAT|

12. Explain the key stages of software development—Survey, Feasibility study, and
design—in brief. Highlight the significance of each stage in the overall

development process. (4 marks)

A I & THE RO - FF&I0T, SFagrie eqael 3R Bse - &l w@&q 7
AU | FHT AHE 9fehar H Tcdeh IRUT & HAgcd T ThIeT STol|
OR / &T

Explain Unit, Integration, System and Acceptance testing in software

development.

HIFEAT faerrd & Sehls, TehlehoT, YOG 3N Feiehfcl qdefor i saredr |

13. What is a Protocol? Explain the Significance of SMTP and HTTPS Protocols in
networking. (4 marks)
GICIdlel FAT §? sicariehdsT # SMTP 3R HTTPS eIl & Hgcd &I TASISU
OR / &1
Explain the following:
farfafaa & carear fifgv:
i. FTP
ii. Web Browser
iii. Search Engine
iv. URL

14. What is Inheritance? Explain Multilevel, Hierarchical and Hybrid inheritance in
C++. (4 Marks)
AT AT &7 C++ H Acdldad, e 3R grsfas seRda A sarear AifFT)

OR / =T
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Write a program in C++ using structure named Employee with integer, character,
and double members for emplD, empName, and empSalary. Create a function
called printEmployeelnfo that takes an Employee structure as a parameter and
prints the employee information.

emplID, empName, 3R empSalary & T quiies, character 3{X s9e members &
AT employee =TAS structure FT 3TINRT dh C++ H Th Jrand ford|
printEmployeelnfo 3% Teh Hharled dATU oIl Ueh employee structure @I WTHEY &
& H odr & 3R employee & SR e aar gl
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